l @ " é g_& Multiplicera decimaler med 10,100,1000

namn: Datum: Poing:

7,327 x 10 = 10, 775 % 100 =
3,613 x 1000 = 5,541 x 100 =
9,342 x 10 = 1,201 x 1000 =
5,45 % 10 = 3,491 x 10 =
4,175 x 100 = 4,272 x 1000 =
2,755 x 100 = 3,361 x 1000 =
3,271 x 10 = 9,698 x 10 =
6,655 x 10 = 5,475 % 10 =
8, 585 x 1000 = 4,606 x 100 =
3,345 x 10 = 8,153 x 100 =
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l @ i é Multiplicera decimaler med 10,100,1000

namn: Datum: Poing;

7,327 x 10 = 73.27 10,775 x 100 = 1077.5
3,613 x 1000 = 3613 5,541 x 100 = 554.1
9,342 x 10 = 93.42 1,201 x 1000 = 1201
5,45 % 10 = 54.5 3,491 x 10 = 34.91
4,175 x 100 = 417.5 4,272 x 1000 = 4272
2,755 x 100 = 275.5 3,361 x 1000 = 3361
3,271 % 10 = 32.71 9,698 x 10 = 96.98
6,655 x 10 = 66.55 5,475 x 10 = 54.75
8,585 x 1000 = 8585 4,606 x 100 = 460.6
3,345 x 10 = 33.45 8,153 x 100 = 815.3
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